Multiplication

1. Work out 47 x 53
2. What is 0.4 x 0.6?
3. Solve 782.1 x 1000
4. Betty is making toast for a breakfast buffet at a large hotel. She has 27 loaves of bread, and each loaf is cut into 24 slices. How many slices of toast will this make?
5. A shipping container holds 132 crates, and each crate contains 18 boxes. How many boxes does the shipping container hold?
6. Two of the following calculation give the same answer as 6 x 30. Put a ring around each of these calculations.
4 x 35	5x40	2x90	12x15	3x50

7. Write numbers on the line below to make the calculations correct. You must use different numbers each time.
___ x ____ = 44
___ x ____ = 44
___ x ____ = 44

8. 29 x 16 = 464
Write down the value of 290 x 1600
9. Will buys six pens. Each pen costs 56p. He pays with a £10 note. Work out how much change he should get? 

10. 
24 x 26 = 624



62.4 ÷ 26 = 
2.4  x 2.6 = 
48 x 26 = 








ANSWERS Multiplication 

1. Work out 47 x 53 2491
2. What is 0.4 x 0.6? 0.24
3. Solve 782.1 x 1000 782100
4. Betty is making toast for a breakfast buffet at a large hotel. She has 27 loaves of bread, and each loaf is cut into 24 slices. How many slices of toast will this make? 648
5. A shipping container holds 132 crates, and each crate contains 18 boxes. How many boxes does the shipping container hold? 2376
6. Two of the following calculation give the same answer as 6 x 30. Put a ring around each of these calculations.
4 x 35	5x40		2x90		12x15	3x50

7. Write numbers on the line below to make the calculations correct. You must use different numbers each time.
__2_ x __22__ = 44
_1__ x __44__ = 44
_4__ x ___11_ = 44

8. 29 x 16 = 464
Write down the value of 290 x 1600 464,000
9. Will buys six pens. Each pen costs 56p. He pays with a £10 note. Work out how much change he should get? £6.64

10. 
24 x 26 = 624


62.4 ÷ 26 = 2.4
2.4  x 2.6 = 6.24
48 x 26 = 1248


